
1. b) AXo-{µnbw

2. b) \bw-am-‰¬

3. c) {_“mhv

4. b) ]cw

5.  c) Fw.-ap-Ip-µ≥

6. a) sI.-sI.-A-ø-∏≥]n≈

7. c) KXn

8. d) BtZ-i-k‘n

9. c) Ah-Im-in-Iƒ

10. b) ZznKp-k-amkw

11. a) 156

12. a) 100 π

13. d)1550

14. b) 9 pm

15. a) 4 In.ao

16. d) ]Sn™mdv

17. b) sX°v

18. c) 1

19. a) 10,6,13

20. d) 30

21. b) 5

22. a) 60

23. d) 24

24. c) 94

25. a) 107

Answer key special Exam -1

26. b) 0

27. d) A-—≥

28. a) AΩmbn

29. d) ]n-Xmhv

30. c) `¿Ømhv

31. b) did they

32. c)  does she

33. b)  Ombrophobia

34. c)  Cynophobia

35. c)  Parliament

36. a)  an

37. a) a

38. d)  No Article

39. a)  accummulative

40. b) accessible

41. a)  Autumn

42. b) bunch

43. c) pack

44. b)  suite

45. b)  he would have been cured

46. d)  many victims would have escaped

47. a)  you will pass

48. d) would not buy

49. d) shall we

50. a) are they



Maths Explanation

17. b) sX°v) sX°v) sX°v) sX°v) sX°v
kqtc-ym-Z-b-Øn\p tijw \ng¬ ]Sn-™mdv hiØpw
kqc-ym-kvX-a-b-Øn\p ap≥]v \ng¬ Ing°v hiØpw
Bbn-cn-°pw.
                     Acp¨

     ]Sn-™mdv \ng¬             Ing°v
                       Ac-hnµv
18. c)1)1)1)1)1

  8 ÷ 6+ 5 ÷ 6 x 2 ---- ---- - 2 = 8 + 5 x 2- - 2
                          6   6

                        = 4/3 + 5/3 -2    = 1

sX°v

Ing°v]Sn-™mdv

hS°v

20.  d) 30) 30) 30) 30) 30

  kptcjv + a°ƒ BsI {]mbw = 17 x 3 = 51
      `mcy + a°ƒ BsI {]mbw = 16 x 3 = 48
                                      3 hy-X-ymkw

                     `mc-y-bpsS {]mbw = 33 -˛ 3 = 30

21. b) 5

                      Father          son

               Present      6x          x

after 5 years   6x + 5           x+5 = 7:2

                    2(6x+5)   =    (x+5) 7

                    12x - 7x  =     35 -10

                               x  =    5

22.a) 60

                    F           S

                  4x            x

            4x + 30           x+30

       Fathers age   =    4x15   = 60

23. d) 24

                      x2               x2

            4,     16,     6,     24,     8,    64

                  +2               +2

             16x 2 = 32

24.c) 94

     4,    7,    10,    11,    22,    17,    46,   25 ------

              +6               +12         +24         +48

              46 + 48 = 94

25.a) 107

        2     7     17     32    52   77 ------

          +5      +10    +15    +20    +25    + 30

                    77 + 30 = 107

26.b) 0

          = 19 x [7-3x2 -(5-4)]

          = 19 [7-3x2 - 1]

          = 19 [ 7-6-1]

          = 19x0 = 0

27.d) A—≥A—≥A—≥A—≥A—≥
a\p-hns‚ AΩm-bn-b-Ω-bp-sS

                Htc-sbmcp aIƒ = a\p-hns‚ `mcy

28. a) AΩmbnAΩmbnAΩmbnAΩmbnAΩmbn
    ktlm-Z-c≥       ktlm-Zcn

29. d) ]nXmhv]nXmhv]nXmhv]nXmhv]nXmhv

30 c) `¿Ømhv`¿Ømhv`¿Ømhv`¿Ømhv`¿Ømhv
   B kv{XobpsS A—s‚
          Htc-sbmcp aIƒ = B kv{Xo

) )) )

) ) ) )

) ) ) ) ) )

11. a) 156) 156) 156) 156) 156
12 aWn°qdn¬  apg-ßp∂
        BsI aWn-Iƒ    = 1+2+3+ ............. +12
                             = 12 x13 = 78
                                 2

  Hcp Znhkw apg-ßp∂
         BsI aWn-Iƒ      = 2 x 78 = 156

12. a) 100) 100) 100) 100) 100πππππ

 15 x 6 = 900

an\n´v kqNn k©-cn-°p∂
 `mK-Øns‚ hnkvXo¿Ww  = πr2θ

                                                 360

                                             = π x 20 x 20 x90

                                                        360

13. d) 155) 155) 155) 155) 15500000

   12 to 5 aWn-hsc   = 5 aWn-°q¿
          tImW-fhv   = 5 x30 = 1500

      10 an\n´v IqSn
           BIp-tºmƒ   = 150+5 = 1550

14. b) 9 ) 9 ) 9 ) 9 ) 9 pm
     kabw = 24a  = 24x7 = 21 aWn (9pm)
                     a+1     8
                            (21 --˛12 = 9 pm)

n(n+1)

2

5

4

  4 :10

  4 :25

      15 an\n´v

Bcw = 20 sk.ao

 = 100π

kpa  ca  Da
  10    6    13

19. a))))) 10,6,1310,6,1310,6,1310,6,1310,6,13
         BsI hb v = 29
    Hm]vj-\n¬ \n∂pw

  15.    a) 4 km

 _ _ _ _ _ _ _ _ _ _ _

            _ _ _ _ _ _ _

          _ _ _ _

        --
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--

--
--

-

 -
--

--
--

 ---------------

1 km
1 km

1 km

1 km

1 km
1 km

1 km 1 km 1 km

3 km

{

1 km + 3 km = 4 km

16. d) ]Sn-™mdv) ]Sn-™mdv) ]Sn-™mdv) ]Sn-™mdv) ]Sn-™mdv

12

6

93

4x+ 30 = 2(x+30)

       2x = 60-30

         x = 15

A B

D


